T R 23,,,
bl 1 w2 =22
] g ik
Bilie=054 5 o /9,3_2&,6__@
B o 00451
ffeoace g6 .07 zfo lL
\/\/ ik e
el ‘92 o Hqu @u\C\MLé
b

LET

di= 200z L oxI0 M

e FA%> RAK (20RO g
4 LT e

/M «D'OB\HW\Z v

HRHAT OIANETER | d 5= \ocm

= W?‘itv?

pr/i\j_ ZT\V\C\DX -2\2
| P‘ ’] Q%X '5m 5
i - N ,
\l//ﬂl: 17 bheN[onaT S 91\0‘“\)}
,--,CAT«’ o%ﬂ_
g___,__,,“'f(: CB:JV.}]T T
[ 01T z
3. v
B (- ‘%egﬁmwmz
e x - 9§\ MO°N e

e TN R

~N

il

\"'“w\\?) b bg O &

cb N ataun ,?Y%Sbwg 30%5{,

=~ 08 (Gingg Vacuwm msm;?)i,

17 65¢ x 0l 218
9 &) X162

\vl ~f2 BRGNS 0 bE{

“w \N

CA M Ao \ 10\\1
(P >ha)




& Di %x 0: OSWM@' §5K 107 % [0 X9-51 3|xzﬁs@§

: z_g,mscmo”* x 68499

\/Co /0314~ 765R10 )\/

=L o e T :
4 D> [655 = b e b \i/k \)-ZO'O—IDBOI Vs COxD\—;(,—'F-)
Cactual = 0: 1653075 a0 et d o
afilel [ ESERMENTC ) 5
3 | Onficemetey) @v\/efn {hed e
Tl dyz 15Cmz I5KI0 210 Prpeélam@cehéf 300, ﬁBom N/LL Y = 110mmHq = 0:1Fmile  &:qka =250
Ahye 7K 0pRI0EY ez RAC30AI00 e B o [$:9hg 1)
: — H’ : e ﬁ_B. » il - \glcﬁ\r\) : j
B 0ot =z Dipabbn | "o (135 O
o RS S B 026
| Coefficient o duscharge =0by 4 Dh= 210§m
| Rendine, of Lfferontal zaocmv\g 5 | -
D ffovotaalhead by -y [g 2 P EEERERNEY T
. SR — V= (,2g8mlS
Sme 2 S T
Y=50x10" 2 e 02 O 0542 | mns §33K102m° |seds
lf\ BOR TR \“I% e »—l - A , T ‘kg &{ olation = HOORW/M\(\ = 0. X8
o L e g —— ? // — Nm\mm\ D\SD a(ement~ \hCW\ \YQ\) S n
R 1 N I /;\\_Lsm‘me InPUt JoNm

/———_

o= O AT 29h -
\Y’Prp ‘“Ao = 3
= O (;L)xb 01751%0 mo(,qx:




TA@Q& 1‘ [ov\) m{e = Nomimal diplare men%.&&g@_eﬁ

< umc)mc Eficency = AL@LQLHD&QQ foeig

Tdeal Tlowroter -
= £330 102 K100
2 §3AI07Y
e 20:15%

E - = 4 .33%107 %15 X 1p7
. = C] \Nc\fLS
. SM{ Power, = Tx10
L IAX R X Speed Gf( YC*\D‘bUﬁ
\N RA N GR

. z )1 81 ¥ad JseC
. S\r\cxﬁ{ fower - \5% 1178\
T : = 967 2 Watls :
‘YQ\.%Q(\Cj uw\” )UUD
' Shaf fower
W5 X100 = b
8Ll

b,ﬂ.‘&f@\we\/ a0 A7 2 A

‘ o FEEOE .
F&’QQW\YQ (anqg \Shay =2 (BX]0 5Nm Py~ A

o

= 109 2613 = 2183 nAGH n¥fsec




